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QUESTION 1

Which three choices are non-functional requirements? (Choose three.) 

A. authorization 

B. certification 

C. availability 

D. authentication 

E. scalability 

F. cost 

Correct Answer: ABE 

 

QUESTION 2

An architect is helping an organization with the Physical Design of an NSX-T Data Center solution. 

This information was gathered during a workshop: 

Any proposed solution must provide low latency. Any proposed solution must provide high throughput. Customer is
running stock trading applications. 

Which two selections should the architect recommend to meet high-performance workload requirements? (Choose
two.) 

A. Leverage ESXi as the compute host. 

B. Use LACP for all uplink profiles. 

C. Leverage KVM as the compute host. 

D. Enable enhanced data path mode on the N-VDS. 

E. Enable latency sensitivity mode on the N-VDS. 

Correct Answer: AD 

 

 

QUESTION 3

Which selection must be taken into consideration when creating a Logical Design for a planned migration? (Choose the
best answer.) 

A. An N-VDS can only attach to a single Overlay transport zone. 
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B. An N-VDS can only attach to a single VLAN transport zone. 

C. An N-VDS can attach to both an Overlay and a VLAN transport zone to a N-VDS having different name/s. 

D. An N-VDS must be disabled before attaching both Overlay and VLAN transport zones. 

Correct Answer: B 

 

QUESTION 4

An architect is helping an organization with the Conceptual Design of an NSX-T Data Center solution. 

Which three selections are requirements documented by an architect? (Choose three.) 

A. Aggregate N-S throughput at any given time should be at least 10G. 

B. All traffic should recover in the event of Host/Rack/ToR failure. 

C. Hardware is 5 years old and new hardware is already purchased. 

D. SAN storage has enough capacity to build the new infrastructure. 

E. Business critical applications should have an SLA of 99.99%. 

F. The Development Team are heavy on API usage. 

Correct Answer: ACF 

 

QUESTION 5

Which is a family of solutions for data center designs that span compute, storage, networking, and management,
serving as a blueprint for a customer\\'s Software Defined Data Center (SDDC) implementations? (Choose the best
answer.) 

A. VMware SDDC Design 

B. VMware Validated Design 

C. VMware POC Design 

D. VMware Cloud Foundation 

Correct Answer: B 
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